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M.Com. (Second Semester)
EXAMINATION, MAY-JUNE, 2022

Paper-Sixth
Business Economics

Time : Three Hours] [Maximum Marks:80

   

Note : Attempt all Sections as directed.



Section-A

 

(Objective/Multiple Choice Questions)



    

Note : Attempt all questions.

 

Choose the correct answer :

1.     

P.T.O.
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A AP

B MP

C AP MP

D 

In the third case of the law of variable proportions

(A) AP is negative

(B) MP is negative

(C) Both AP and MP are negative

(D) All of the above are false

       

(A 

(B 

(C 

(D 

Exponent of innovation theory of business cycle-

(A) Samuelson

(B) Hatre

(C) Schumpeter

(D) Heyk
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3. 


(A) 

(B) 

(C) 

(D) 

Albert Meyer's has divided the path of the business cycle
into how many statges -

(A) Three

(B) Four

(C) Five

(D) None of these

4.      

(A)   

(B)  

(C)  

(D)   

Structural theory of inflation developed in-

(A) Great Britain

(B) Soviet Russia

(C) South America

(D) South Africa
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5.     
 

(A)      

(B) (How to Pay for the War)

(C)  

(D) (A)(B)

In which of his book did Keynes discuss the idea of infla-
tionary gap-

(A) General Principles of Employment, Interest and
Money

(B) How to pay for the war

(C) None of these

(D) Both (A) and (B)

6. 

(A)  

(B) 

(C)      

(D)  

When all the factors change simultaneously it is said that-

(A) The level of the firm has risen

(B) The level of the industry has risen

(C) The scale of the firm's plant has changed

(D) All the statements are wrong



[5]

F - 106

7.   

(A) 

(B) 

(C) 

(D)  

Fixed cost in short run when output is zero -

(A) Becomes Zero

(B) Remains positive

(C) Becomes negative

(D) None of the above

8. 


(A) 

(B) 

(C) 

(D)  

What would be the effective force in the very short run in
'price change' is?

(A) Demand

(B) Supply

(C) Production capacity

(D) Marginal cost

P.T.O.
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9. (Kinked Demand (curve) 


(A)   

(B)  

(C)   

(D)  

The idea of Kinked Demand Curve is due to which of the
following?

(A) Pal M. Sweezy

(B) William Fellner

(C) Mrs. John Robinson

(D) Fritz Macalup

10. AC 

(A) 

(B) 

(C) 

(D)  

When the AC curve is falling, then marginal cost is com-
pare to average cost-

(A) Is less

(B) Is more

(C) Equal

(D) None of above
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11.  

(A) P () = MC = MR

(B) P <  MC = MR

(C) P >  MC = MR

(D) P = MR > MC

In state of equilibrium is, in a monopoly-

(A) P (Price) = MC = MR

(B) P <  MC = MR

(C) P >  MC = MR

(D) P = MR > MC

12.  

(A)    

(B)     

(C)    

(D)   

Price discrimination is possible -

(A) Because of the nature of the article

(B) Because of the characteristics of the consumers

(C) Because of the legal sanction

(D) Because of all the above conditions

P.T.O.

[8]

F - 106

13. 

(A)   

(B)   

(C)  

(D)  

Buyer's monopoly emerges when in the market-

(A) The number of sellers is large

(B) There is only one buyer

(C) Both of the above

(D) None of the above

14.   

(A) SP = AC + DPU

(B) SP = AC - DPU

(C) SP = AC x DPU

(D) SP = SC  DPU

Mathematical formula for determining full cost pricing
method is-

(A) SP = AC + DPU

(B) SP = AC - DPU

(C) SP = AC x DPU

(D) SP = SC  DPU
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15. 


(A) 

(B) 

(C)  

(D)  

Marginal or Incremental cost pricing is a method or
assumption of-

(A) Short term

(B) Long term

(C) Both of above

(D) None of the above

16.          


(A) 

(B)  

(C) 

(D)  

The pricing of lease and license is related to which
aspect of the buyer?

(A) Costs

(B) Development costs

(C) Benefits

(D) All of the above

P.T.O.
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17. AC 
MC  

(A)     

(B)     

(C)  

(D)  

In pricing of multiple goods, nature of cost lines AC and
MC is-

(A) Separable

(B) Indistinguishable

(C) Both of the above

(D) None of the above

18.      

(A) AC

(B) AC

(C) AC 

(D)  

A monopoly firm is in equilibrium when-

(A) AC is at its lowest point

(B) AC would have been at its highest point

(C) AC is not at its lowest point

(D) None of the above
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19.  

(A) 

(B)     

(C) 

(D) 



In monopolistic competition-

(A) Firm does not depend on industry

(B) The price fixed by the industry is given to each firm

(C) Firm and industries are different

(D) There may be many firms in the market which pro

duce differentiating goods

20.     

(A) MR = MC

(B) AR = MR

(C) LAC = Price

(D)  

In the long run in perfect competition-

(A) MR = MC

(B) AR = MR

(C) LAC = Price

(D) All of the above

P.T.O.
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 

Section -B

  

(Very Short Answer Type Questions)

(2 marks each)

    

Note : Attempt any eight questions in 2-3 sentences.

1.  ?

How many types of production function. Give the name.

2.     

Write the types of Internal Economies.

3. 

What do you meant by perfect competition?

4.      

Write the direct methods of monopoly control.

5. 

What is dumping?

6.      

Explain the Break-Even pricing method.
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7.     

Define the Business cycle.

8. 

What are production relations called?

9. 

What is stagflation?

10.  

What do you meant by marginal cost?



(Section-C)

 

(Short Answer Type Questions)

(3 marks each)

     

Note : Attempt any eight questions in 75 words.

    


Distinguish between short and long run production
function.

    ?    


P.T.O.
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What is Duopoly? Discuss the features of Duopolitic
competition.

      

Distinguish between Imperfect Competition and Monopo-
listic competition.

    

What is the necessary conditions of price Discrimina-
tion?

   ?

What is the meaning of Real Cost?

      L     
?

What are the reasons for L shape of the long run aver-
age cost curve?

    

What is the rationale for price discrimination?

      

Briefly  write the notion of attractive price.

          


Explain the basic proposition of Prof. Hick's business
cycle theory.
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      

Explain the meaning of 'Structural Inflation'.



(Section-D)

 

(Long Answer Type Questions)

(5 marks each)

     

Note : Attempt all questions in 150 words.

 
 ?

Why does the marginal costs curve cut the Average Cost
curve at its lowest point?

/OR


  

Explain the role of 'Time Element' in the theory of deter-
mination or theory of value.

       
 

Discuss the price-output policy under Monopolistic Com-
petition.

P.T.O.
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/OR

         

  

"The ultimate solution of duopoly lies in price leadership
and collusion" Explain this statement in reference to pric-
ing of duopoly.

 


Explain the method of cost-plus pricing. State its limita-
tions.

OR

        
     

Describe the essential characteristics of business cycle
and also explain the various phases of a business cycle.

         
? ?

 . How does inflation affect the process of economic
growth? Is it a by-product of economic growth?

/OR

L-   ?

Why long term average cost curve is L- shaped?


